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AlayWVIOHOC ZTATIOTIKAG 2025.

B - TUUVACLOKOG KUKAOG
1 - TeoT BACLKWY YVROEWV

Exboxn: 1 NMwooa: el

1. OtapBpol x+y ,x , x+17y , x+ 3y

HE x,v = 0 EXouv WEan TKN 28 kal Sidapeco 15. O aplBuoc x eivac:

Thenumbers x+v ,x , x+17yv , x4 3y
where x,¥ = 0 have amean of 28 and a median of 15. The number x is:
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2. Eva Palo MEpLEXEL COKOAATAKIO Ao 5 SladopeTikd &idn. Zuykekplpéva, ato Balo
umapxouv 12 gokohataxia pe yelan dpdoviac, 9 ye yebon Batdpoupo, 7 Pe yEUOT
pmavava, 5 pe yeuon kaoTavo kal 7 pe yeuon tpoudac. H EAEvn, maipvel ota Tudid
Tplo cokohatdkla, To va PETA TO Aio, amd to Bafo. H mBavotnTa va mhps duo
gokoAatdkla pe yeuon dpdouid kal gva pe yeban Tpolda eival:

A jar contains chocolates of 5 different types. Specifically, the jar has 12 strawberry-
flavoured chocolates, 9 raspberry-flavoured, 7 banana-flavoured, 5 chestnut-
flavoured, and 7 truffle-flavoured. Eleni blindly takes three chocolates, one after the
other, from the jar. The probability that she took two strawberry-flavored chocolates,
and one truffle-flavored chocolate is:

A: 0,05

B: 0,016

- 0,047

A: 0,043




3. O emopevoc Tivakac kataypadel Ta TROXAIA ATUXAPATA TIOU Eyivay GE JIa ¥wpa, oav
v Kompo, kata to 2024. H kataypadr] ywve £EXWPLOTA yia AVTPEC KAl YUVAIKES
odnyoucg, yla kabe pua pEpa g efdopadac.

The following table records the traffic accidents in a country, such as Cyprus, during
2024. The recording was done separately for male and female drivers for each day of
the week.

Avbpec/Men | Muvaikec/Vomen | Z0voho/Total
Kuplakn/Sunday 605 379 984
Aeutepa/Monday 488 301 789
Tpitn/Tuesday 501 314 815
Teraptn/Wednesday 488 301 789
Nepmn/Thursday 514 314 828
Nopagkeun/Friday 592 366 958
2apParo/Saturday 683 405 1088
Zovoho/Total 3871 2380 6251

EmAéyetal atnv toyn évac/pia mou evEMAAKN o Tpoyaio atiynua. H mBavotnra o/n
obnyoc va eival yuvaika kKal va £Xel EUMAAKEl G Tpoxaio atuynua ge KAmoLo
cafpatokUplako (Zapparto 1 Kuplakn) tou 2024 sivac:

A personisrandomly selected who was involved in a traffic accident. The probability that
the driver is female and has been involved in a traffic accident on a weekend (Saturday
or Sunday) in 2024 is:

A: 0,12

B: 0,71

I 0,34

A: 0,35



4. Ze &peuva yia To eMiMedo TN EKMAIGELGNC TwY EvRAlkwy pwTth8nkay 12000 atopa
nAkiac 25 - 75 etwv. H katavopr mepiehafs téooepa enineda we efnc: To eminedo
(0-2) adopd aropa pe ekmaideuon péxpl eninedo yupvaoiov. To eminedo (3-4) adopa
atopa anodoeitoug Aukeiou (Tevikng f Texviknc) kal To eninedo (3-8) adopd dtopa pe
TAVETIGTAULAKG ] AAO avwTepo eTimedo amoudwy. H katavour] mapousldadeTal aTo
ETMOUEVO pafdoypappa.

In a survey on the level of education of adults, 12,000 people aged 25 - 75 were
interviewed. The distribution included four levels: Level (0-2) concerns people with
education up to high school level. Level (3-4) concerns people with high school
(General or Vocational) graduates, and level (3-8) concerns people with university or
other higher levels of studies. The distribution is presented in the following bar chart.

Eminedo Exmaidevonc Amodoitwy 25 - 75 eTwy

Education Level of Graduates 25 - 75 years old
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Eminmedo/Level (0-2) Eminedo/lLevel (3-4) Eminmedo/lLevel (3-4) Emimedo/lLevel (3-8)
levikn/General Texwikn/NVocational

Eival ywwotod 0TL To TogooTo Twy anodoitwy oto eminedo (3-4) Texvikr) Ekmaidsuan
eivalto 31,4% 1ou guvohou Twy anodoitwy Tou emmédou (3-4). Otav olmhnpodopisc
Tou pafdoypAupartoc TAPoOUCLAoTOUY G8 KUKAKO Slaypappa guyvoTATwY, TOTE n
EMikevTpn ywvia mou avTioTolel oty katnyopla «Eminedo (3-4) Teyvikre
OTpOYYUAELEVH OTNV TANCIECTEPN aKEpala TIUA elval:

It is known that the percentage of graduates at level (3-4) Technical Education is
31.4% of all graduates at level (3-4). When the information in the bar chart is
presented in a pie chart frequency diagram, the central angle corresponding to the
category "Level (3-4) Technical”, rounded to the nearest integer value, is:

A: 90°
B: 41°

I 40°




A: 35°

B. Ze &va pepolnmikéd Zapl n mbavotnta dpriac évésiEnc sival Sumhdowa and v
TmBavoTnTa MepITIAC EvBelEng. To Lapt piyvetal duo dopéc. H mBavotnTa 1o yIvopEevo
Twv evdeifewy va elval aplBpudc mepittoc eival:

In a biased die, an even number's probability is twice that of an odd number. The die
is rolled twice. The probability that the product of the numbers is an odd number is:

A: 0,011

B: 0,222

I 0,333

A: 0,666

6. Zeivaspyootacio pe 120 epyalopevouc n HEon T Twy apolfuwy Toug sival 900€. Ot
45 amd autolc TANPUVOVTAL HE PLoDd PIKPOTEPD NG PECNC TIHAC Kal ot plofol Toug
EXOUV WETN T €800, v 0L UTIOACITIOL TANPWVYOVTAL JE o8O JeyalITEPO f i0o Thc
pEanc Tnc. Av ol amodoxEc Twv epyalodéviy UE HaBo JIKpOTERO TNC HEGHC TIUAC
auénBouv Kal yivouv 0ao n JETN T, TOTE Told Ba eival n vea pean TIPA Twy apopuv
Twyv 120 epyalopéviy;

In a factory with 120 workers, the average wage is €900. 45 of them are paid less
than the average wage, and their average wage is €800, while the rest are paid more
than or equal to the average wage. If the wages of the workers with wages less than

the average wage increase to the average wage, what will be the new average wage
of the 120 workers?

A: 1237,5




B: 1200

I 937,5

A: 962,5

7. BEvakoutimepiéyel fuo vopicpata. To éva eival kavoviko ( n pia odin Kopuiva kol ¢idn
Mpdppata) kol To Ao éxel «Mpapparo» kal otic duo oYsig. EmAdyetal Tuyaia gva
VOULOHO amo To KouTi kal pixvetal pia dopd. H mbBavotnra n &vdelfn va sival
pappata eivac

A box contains two coins. One is normal (one side is Heads and the other is Tails),
and the other has “Tails” on both sides. A coin is randomly selected from the box and
tossed once. The probability that the result is Tails is:

A: 0,125

[ 0,75

A: 0,25




8. Zto mo katw Sidypappa mapouoalovral ol fadpoloyiec plac opadag padnTwy oo
paBnpa tng ZTatotikhc. H péan Ty tne fabpohoyiag Twy paBntwy sivat:

The chart below shows the scores of a group of students in the Statistics course. The
average student scoreis:

A: 4,05

B: 3,50

I: 3,68

A: 3,91




10.

9. e éva dwpdtio dlacTacewy 3,75 x 3,60 pETpa Ba TomoBeTnBolv KEpauIKA TIAAKAKLA
oTo matwpa. O epyohdfoc ymopei va eMASEEL TTAAKAKLA JE PAKOG Ao To ouvoho A =
{10,15, 20, 25,30} cm ko AATOC amo to cuvoho B = {10, 15,20,25} cm. Av tuyaia
EMASEEL TTACGKAKIO WE PAKOC amd TO GUVoAD A Kol MAATOC amd 1o aUvoho B, n
mBavotnTa va kaAudBsl akplfuc To MATWHA Tou dwatiou ¥wpic va Xpeiaatoly
koliparta sival:

In a room measuring 3.75 x 3.60 meters, ceramic tiles will be laid on the floor. The
contractor can choose tiles with length from the set A = {10, 15,20, 25,30} cm and
width from the set B = {10, 15, 20, 25} cm. If he randomly chooses tiles with length
from set A and width from set B, the probability that the floor of the room will be
covered precisely without the need for cuts is:

A: 0,5

[ 06

A 0,3

10.To mhRBoc oAwv Twv duvatuv evde)opévwy atnv piln 10 KEpUdATLwY TAUTOXpOVO
eivau
The number of all possible outcomes of tossing 10 coins simultaneously is:

A2

B: 100




I 1024

A: 1010




